18 HMURL - B AMER OERE (EBEFIRA)
= # & &
T & R 5 i ) B Wmow - N 4 I
. e | B B8 HIEPRIE " lenn|n n|8 B|Zwa|E0e
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L = k1 ki ki ki % % % % %
e it i H 11 3,272 4,944 278 460 0.7 0.7 0.8 0.4 0.5
#H o 18 2,028 2, 767 176 5 1.1 0.5 0.5 0.2 0.0
A =e 19 2,822 4,313 438 263 1.2 0.6 0.7 0.6 0.3
fil =1 B 29 5,563 7,506 255 130 1.8 1.3 1.3 0.3 0.1
% H 40 14, 882 21,777 1,953 2, 065 2.5 3.4 3.7 2.5 2.3
& L Z 56 7,597 10, 007 1,200 1,168 3.6 1.7 1.7 1.6 1.3
A B 67 11, 454 14,972 3, 986 4,578 4.3 2.6 2.5 5.2 5.1
B 229 44, 345 61, 343 8, 008 8, 209 14.5 10. 1 10. 4 10. 4 9.1
* IR 52 2,263 5, 009 400 735 3.3 0.5 0.8 0.5 0.8
A 15 PN 36 6,231 7,275 643 1,601 2.3 1.4 1.2 0.8 1.8
e RE o5 27 2, 656 3,721 507 515 1.7 0.6 0.6 0.7 0.6
b2 ES 35 19, 386 18, 766 4,273 5, 767 2.2 4.4 3.2 5.5 6.4
f& bEl} B 94 34, 732 46, 514 3, 842 3, 255 6.0 7.9 7.9 5.0 3.6
B R i 85 7,973 11,617 1, 555 672 5.4 1.8 2.0 2.0 0.7
B 329 73, 240 92, 901 11, 220 12, 545 20.9 16. 6 15.7 14.6 13.9
T % 35 2, 361 3, 197 412 341 2.2 0.5 0.5 0.5 0.4
0 w Iy 14 12, 827 15, 445 745 2,322 0.9 2.9 2.6 1.0 2.6
i = JII 12 605 918 35 1 0.8 0.1 0.2 0.0 0.0
" (L AL 13 839 1, 248 85 16 0.8 0.2 0.2 0.1 0.0
B 74 16, 633 20, 807 1,277 2, 680 4.7 3.8 3.5 1.7 3.0
= (L 23 5,679 7, 581 36 33 1.5 1.3 1.3 0.0 0.0
& el ) 35 5,215 7,058 222 751 2.2 1.2 1.2 0.3 0.8
RO F 26 2,257 3,003 25 31 1.6 0.5 0.5 0.0 0.0
B 84 13, 151 17, 642 283 815 5.3 3.0 3.0 0.4 0.9




53 B 47 2,920 3,953 290 159 3.0 0.7 0.7 0.4 0.2

# i fif] 28 3, 482 4, 068 37 252 1.8 0.8 0.7 0.0 0.3
r = 0 44 16, 249 21,816 1, 406 2,835 2.8 3.7 3.7 1.8 3.1
= = & 39 2, 061 2, 645 73 323 2.5 0.5 0.4 0.1 0.4
i 158 24, 712 32, 483 1, 806 3, 569 10.0 5.6 5.5 2.3 4.0

B = 45 3, 147 1,927 79 3, 837 2.9 0.7 0.3 0.1 4.3

i e 46 87, 185 121, 150 6, 990 8, 966 2.9 19.8 20. 5 9.1 10.0

S PN 53 15 907 1,272 30 36 1.0 0.2 0.2 0.0 0.0
It JoE 82 131, 004 179, 722 41, 791 40, 670 5.2 29. 7 30. 4 54.3 45.2

B Z5 B 37 4,152 3, 950 554 2, 047 2.3 .9 .7 0.7 2.3
Fn 78 L 26 2,110 2, 608 691 1,070 1.6 0.5 0.4 0.9 1.2

3 251 228, 506 310, 629 50, 135 56, 626 15.9 51.9 52.6 65. 1 62.9

)= Hx 20 726 1,076 170 84 1.3 0.2 0.2 0.2 0.1

= 5 Ui} 35 1,678 2, 400 205 121 2.2 0.4 0.4 0.3 0.1
fif] (L 47 3,188 3, 249 90 1,462 3.0 0.7 0.6 0.1 1.6

N 1= 55 9, 842 13, 480 341 391 3.5 2.2 2.3 0.4 0.4

& 1N A 39 1,953 2, 365 145 92 2.5 0.4 0.4 0.2 0.1
3 196 17, 386 22, 570 951 2, 150 12. 4 3.9 3.8 1.2 2.4

i = 25 424 645 40 31 1.6 0.1 0.1 0.1 0.0

= & JI| 7 1,162 1,573 83 56 0.4 0.3 0.3 0.1 0.1
= 53 45 1,720 2,591 103 79 2.9 0.4 0.4 0.1 0.1

2 ] pau 18 4,306 6, 189 16 41 1.1 1.0 1.0 0.0 0.0
G 95 7,612 10, 998 242 207 6.0 1.7 1.9 0.3 0.2

B g ] 62 3, 305 6, 247 1,691 539 3.9 0.7 1.1 2.2 0.6
i 1 s 30 3, 041 3,314 554 716 1.9 0.7 0.6 0.7 0.8
¥l & i 14 825 1,033 47 25 0.9 0.2 0.2 0.1 0.0
i 106 7,171 10, 594 2,292 1, 280 6.7 1.6 1.8 3.0 1.4

i3 ¥iN 12 1,124 1,815 70 91 0.8 0.3 0.3 0.1 0.1

HE PN 4y 28 3, 389 3, 807 468 1,413 1.8 0.8 0.6 0.6 1.6
= iy 2 X X X X 0.1 X X X X

%N B " = — — — — — — — — — —
B 42 X X X X 2.7 X X X X

G| IRG i 1 X X X X 0.1 X X X X
S g 1,576 440, 676 590, 717 77,030 90, 046 100. 0 100. 0 100. 0 100. 0 100. 0




